DRI

DUPLOMATIC

AUTOMAZIONE

STATIC TOOLHOLDERS KNt

ACCORDING TO DIN 69880 | =
for CNC lathes L& ¥

TECHNICAL INFORMATION I.T- 4F01

ssssss 03-04

B b 2k A sh1be =T R 2 =)
0 Fif Fr = PF-Tr IF I 2 i e X

TEL: {(+B6) 51257914649 57910267 FAX: (+86) 512-B2092939
Mail: Kssumeid@1623 .. com ¥Web: httprSyvwwwwyw.smmz«dh.com




Main Features

DUPLOMATIC

AUTOMAZIONE

A wide range of static toolholdersfor CNC turning centers, that foresees all models defined in detail in
DIN 69 880 and including a comprehensive line of special holders to meet different requirements.

The full range has the following basic technical features:

» High quality steel, case hardened with surface hardness of 58-60 HRc.

» Disc-side and cutter-side surfaces are ground, for avery high accuracy.

» Adjustable any time to the next lower cutter height, with adapters to be ordered separately.
» Adjustable cutter position, using two stop screws.

* Spring-mounted pressure plates for clamping cutter in the exact position.

* Internal coolant supply through ball nozzles, featuring quick and precise adjustment.

» Corrosion-resistant to al known coolants and lubricants.

» No surface damage due to external factors.

» According to DIN 69 880, all toolholders are equipped with a sealing ring on the shaft.

FCErry SFrary SISy oof Ao sy 2EFory Fecfrryofoegy o 8 T I
TEL: {(+8B6) 51Z2-579 14649 57910267 FAM:=: (+86) 5S1Z2-B2092939
Mail: kssumeid@1 63 . .com Web: http:i'vywwyrwwyw . simzdhocom

@ B L 22 B shib 45 BR 2 =)



® | Index DIN 69 880 Tool holders

DUPLOMATIC
Overview Chapter Sheet
Blank toolholder 1.1 FormAl
1.2 FormA?2
R ] 1
Square cross seat 21 FormB1
tool holder 22 FormB2
@ 2.3 FormB3
D ]{ 2 24 FormB4
@ 21 FormB5
26 FormB6
27 FormB7
2.8 Form B8
Square axial seat 31 FormCl
. R | toolholder 3 32 FormC2
¢ o 33 FormC3
34 FormC4
Multiple square seats 41 FormD1
tool holder 4 42 FormD2
Cilindrical seats 51 FormEl
toolholder with internal 5
coolant
Boring bar holder 6.1 FormE2
i 6 6.2 Boring bar holder, right hand,
offset

@> BLEIE LRt

TEL: (+86) S12>-57914649 57910267 FAMX: (+86) 51Z2-B82092>93%9
Mail: kssumeid@163 . .com Wieb: httpz/fwwwwwwosmmzdh.com



® | Index DIN 69 880 Toolholders
DUPLOMATIC
Overview Chapter Sheet
- Collet chuck holder 7.1 FormE3DIN 6388
7.2 Form E3 DIN 6345
7 7.3 Form E4 DIN 6499
Morse taper holder 81 FormFl
Blanking plug 10.1 FormZ2
Short drilling chuck 12.1 Short drilling chuck holder
holder
=l _
=-p 12
Revolving stock stop 13.1 Revolving stock stop
Revolving center point 15.1 Revolving center point, with
@gﬂ; :']E 15 centering inserts

. L1 9% 22 1 S AL RS T B 2y =)
@) Fo Fr = F o rrk £F Fr Fr ¥ e £ T

TEL: (+86) 5S12-579146449 57910267
Mail: kssumeidi163 . com

WYwels:

FAX: (+86) S12-B2092939
hittpz/ffvrwrwww . smzdb.com



E® | ndex DIN 69 880 Toolholders

DUPLOMATIC
Overview Chapter Sheet
Floating holder 16.1 Floating holder,
_--—I with internal coolant supply
} I 16 16.2 Floating holder,
_--—l with external coolant supply
Cut-off toolholder 17.1 Cut-off toolholder, adjustable

17 height

Tap holder 18.1 Tapholder withaxia compensation
18 for DIN 6499 collets
Bar puller 20.1 Bar puller

20

Test bar 21.1 Test bar
I | 21
Boring bar holder 22.1 Boring bar holder,
22 for radial disc

@;, B 253 A shibFL A BR 2 5]
FErrySFrzrry S Lrrrr F ALrEorrr 25 F5ory Feclfrrrofoegy o L T

TEL: (+86) S12-57914649 57910267 FAM: (+86) 51Z2-B2092>9359
M ail: Kkssumeid1 63 ..corm Web: httpiivwwwwyw.o.simzdhbh.ocom



® | Blank toolholder

(Toolholder for special design)

DIN 69880 Form Al

DUPLOMATIC
L1 B1l
|
|
|
— ! —
4 —_ e ———— — — - - = — D -4 — — - — . — | ____________ - T
|
|
|
i
DIN-

D1 Desigration Code Bl H1 L1

16 Al-16x44 200.075.150 78 44 44

20 Al1-20x65 201.075.150 100 60 65

25 A1-25x75 207.075.150 100 60 75

30 A1-30x85 202.075.150 130 76 85

40 A1-40x100 203.075.150 151 96 100

50 A1-50x125 204.075.150 160 120 125

60 A1-60x160 205.075.150 165 125 160

Materia : C45 steel

<,

E bz 22 B shib LB/ R 2 o)

FCErry sSFraary S irrrreaf A s orry a8iory Fecfhrrofoogy o 8 T

TEL: {(+86) 512-57914649 5S37¥910267T FAX: (+86) 512-B2092939

Kssumeid@1 63 .com

Web: hittpaiwvwwwyrwywosmz«dhbh.comm



® | Blank toolholder
(Toolholder for special design)

DIN 69 880 Form A2

DUPLOMATIC
L2 D2
__________ —_ — — — D
D1 | DIN-Designation Code D2 L2
16 A2-16x60 200.080.150 40 60
20 A2-20x70 201.080.150 50 70
25 A2-25x80 207.077.150 58 80
25 A2-25x200 207.080.150 58 200
30 A2-30x100 202.077.150 68 100
30 A2-30x240 202.080.150 68 240
40 A2-40x120 203.077.150 83 120
40 A2-40x320 203.080.150 83 320
50 A2-50x135 204.077.150 98 135
50 A2-50x400 204.080.150 98 400
60 A2-60x150 205.077.150 123 150
60 A2-60x480 205.080.150 123 480

Materia : C45 steel

<,

TEL: (+8B6)» 51257914649 57910267

E bz B ahib B A R 2 =)

FCErrySsFrary SIrrrroof AisEaorry 257ory Fecfrrofoegy o L FIEF

Mail: kssumeidi163 .com

FAM: (+B6) S1Z2Z-B20929359
Web: http:ivwwwvwyw.smzdh.com



Squar e cross seat toolholder,

right hand, short

DIN 69880 Form

Bl

<<,

TEL: (+8B86) 5S12-579 146449 57910267

DUPLOMATIC
B1l
L2 B2
L1 B3
*@ B | o
| T
[ I | B | 5‘ | |
— |
T <L @ | é ©
T T
<f \:—
| 1
D1 | H1o DIN- Code Bl | B2 | B3 | H5 | He |L1%5| L2 Adapter
Designation
16 | 12 | B1-16x12x24 | 210.100.150 | 42 | 23 5 20 | 22 | 13 | 24 -
20 | 16 | B1-20x16x30 | 211.102.150 | 55 | 30 7 25 | 30 | 16 | 30 | 218.329.220
20 | 16 | B1-20x16x40 | 211.100.150 | 55 | 30 7 25 | 30 | 26 | 40 | 218.329.220
20 | 16 | B1-20x16x30 | 231.102.150 | 55 | 30 7 25 | 30 | 185 | 30 | 218.329.220 | *
20 | 16 | B1-20x16x40 | 231.100.150 | 55 | 30 7 25 | 30 | 255 | 40 | 218.329.220 | *
25 | 16 | B1-25x16x30 | 217.100.150 | 55 | 30 7 25 | 30 | 16 | 30 | 218.329.220
30 | 20 | B1-30x20x40 | 212100150 | 70 | 35 | 10 | 28 | 38 | 22 | 40 | 218.280.220
30 | 20 | B1-30x20x60 | 212102150 | 70 | 35 | 10 | 28 | 38 | 42 | 60 | 218.280.220
30 | 20 | B1-30x20x50 | 232.200.100 | 70 | 35 | 10 | 28 | 35 | 32 | 50 | 218.280.220 | *
40 | 25 | B1-40x25x44 | 213.100.150 | 85 | 425 | 125 | 325 | 48 | 22 | 44 | 218.286.220
50 | 32 | B1-50x32x55 | 214.100.150 | 100 | 50 | 16 | 35 | 60 | 30 | 55 | 218.290.220
60 | 32 | B1-60x32x60 | 215.100.150 | 125 | 625 | 16 | 425 625 | 30 | 60 | 218.031.220
Remarks:
« height adjustable /A=1
Adapter for smaller lathe chisel:
L
|
Code H L B i
T
218.329.220 4 54 14
218.280.220 4 69 16 | f
218.286.220 5 84 20 f
218.290.220 7 29 25 T — — & — — T @
218.031.220 7 120 25 |

B b x5 Bahib BB Ha R o =)

FErrySFrary Srrrrroof ArrEorry a2iory Fecfhrrryofoogy o f T

Mail: kssumeeid1 63 .. com

FAMX: (+B&6) 5S12-B2092939

Wieb: httpz/ivwwwww _ smzdbh.com



Square cross seat toolholder, DIN 69 880 Form B2

left hand, short

DUPLOMATIC
B1
L2 B2
L1 B3
© 2 |
T =
T © |
© .
S /
D1 | H1o: DIN- Code Bl | B2 | B3 | H5 & H6 | L1°5| L2 | Adapter
Designation
16 | 12 | B2-16x12x24 | 210117150 | 42 | 23 | 5 | 20 | 22 | 13 | 24 -
16 | 12 | B2-16x12x34 | 210115150 | 42 | 23 | 5 | 20 | 22 | 23 | 34 -
20 | 16 | B2-20x16x30 | 211117150 | 55 | 30 | 7 | 25 | 30 | 16 30 | 218.329.220
20 | 16 | B2-20x16x30 | 231117150 | 55 | 30 | 7 | 25 | 30 | 18 | 30 | 218.275.220
20 | 16 | B2-20x16x40 | 211115150 | 55 | 30 | 7 | 25 | 30 | 26 40 | 218.329.220
25 | 16 | B2-25x16x30 | 217115150 | 55 | 30 | 7 | 25 | 30 | 16 | 30 | 218.329.220
25 | 16 | B2-25x16x40 | 217.117.150 | 55 | 30 | 7 | 25 | 30 | 26 40 | 218.329.220
30 | 20 | B2-30x20x40 | 212115150 | 70 | 35 | 10 | 28 | 38 | 22 | 40 | 218.280.220
30 | 20 | B2-30x20x60 | 212117150 | 70 | 35 | 10 | 28 | 38 | 42 60 | 218.280.220
40 | 25 | B2-40x25x44 | 213115150 | 85 | 425 | 125 | 325 48 | 22 | 44 | 218.286.220
50 | 32 | B2-50x32x55 | 214115150 | 100 | 50 | 16 | 35 | 60 | 30 | 55 | 218.290.220
60 | 32 | B2-60X32x60 | 215115150 | 125 | 625 | 16 | 425 | 625| 30 | 60 | 218.031.220
Remarks:
» height adjustable JA=1
Adapter for smaller lathe chisdl:
| L |
Code H L B | Ly
218.329.220 4 54 14 Tt
218.275.220 4 55 12 f
218.280.220 4 69 16 i
218.286.220 5 84 20 - — — & — — T o
218.290.220 7 99 25 i
218.031.220 7 120 | 25




® | Square cross seat toolholder, DIN 69 880 Form B3

overhead right hand, short

DUPLOMATIC
AUTOMAZIONE
L2 B1
L1 B2
!
<L /\ ©
- : f T
| < . © | o
[ -1 T al |
| N~
@ | *
!
I
B3
D1 | H1o DIN- Code Bl | B2 | B3 | H6 | H7 |L1%5| L2 Adapter
Designation
16 | 12 | B3-16x12x24 | 210.105.150 & 42 | 23 5 22 | 20 | 13 | 24 -
20 | 16 | B3-20x16x30 | 211.107.150 | 55 | 30 | 7 30 | 25 | 16 | 30 | 218.329.220
20 | 16 | B3-20x16x40 | 211105150 | 55 | 30 | 7 30 | 25 | 26 | 40 | 218.329.220
20 | 16 | B3-20x16x30 | 231.107.150 | 55 | 30 | 7 30 | 25 | 185 | 30 | 218.329.220
20 | 16 | B3-20x16x40 | 231105150 | 55 | 30 | 7 30 | 25 | 255 | 40 | 218.329.220
25 | 16 | B3-25x16x30 | 217105150 | 55 | 30 | 7 30 | 25 | 16 | 30 | 218.329.220
30 | 20 | B3-30x20x40 | 212105150 | 70 | 35 | 10 | 38 | 35 | 22 | 40 | 218.280.220
30 | 20 | B3-30x20x60 | 212107150 @ 70 | 35 | 10 | 38 | 35 | 42 | 60 | 218.280.220
40 | 25 | B3-40x25x44 | 213.105.150 | 85 | 425 | 125 | 48 | 425 | 22 | 44 | 218.286.220
50 | 32 | B3-50x32x55 | 214.105.150 @ 100 | 50 | 16 | 60 | 50 | 30 | 55 | 218.290.220
60 | 32 | B3-60x32x60 | 215.105.150 § 125 | 625 | 16 | 625 | 625 30 | 60 | 218.031.220
Remarks:
« height adjustable /A=1
Adapter for smaller lathe chisal:
L
|<—>‘
Code H L B ‘
I
218.329.220 4 54 14
218.280.220 4 69 16 : f
218.286.220 5 84 20 !
218.290.220 7 99 25 1T @ ‘‘‘‘‘ T °
218.031.220 7 120 25 i




® | Square cross seat toolholder, DIN 69 880 Form B4
over head left hand, short

DUPLOMATIC
AUTOMAZIONE
L2 B1
L1 B2
/\
: ©
5 o ol
T
— LT |
s 2] B Ty e —
\ N~
| T
|
T
B3
D1 | H1ot [.)IN'. Code B1 B2 B3 H6 H7 | L1%%%| L2 Adapter
Designation

30 25 16 30 218.329.220
30 25 26 40 218.329.220

20 16 | B4-20x16x30 | 211.112.150 55 30 7

20 16 | B4-20x16x40 | 211.110.150 55 30 7

20 16 | B4-20x16x30 | 231.112.150 55 30 7 30 25 | 185 | 30 218.329.220 | *
20 16 | B4-20x16x40 | 231.110.150 55 30 7 30 25 | 255 | 40 218.329.220 | *
25 16 | B4-25x16x30 | 217.110.150 55 30 7 30 25 16 30 218.329.220
30 20 | B4-30x20x40 | 212.110.150 70 35 10 38 35 22 40 218.280.220
30 20 | B4-30x20x60 | 212.112.150 70 35 10 38 35 42 60 218.280.220
40 25 | B4-40x25x44 | 213.110.150 85 | 425 | 125 | 48 | 425 | 22 44 218.286.220
50 32 | B4-50x32x55 | 214.110.150 | 100 | 50 16 60 50 30 55 218.290.220
60 32 B4-60x32x60 | 215.110.150 | 125 | 625 | 16 | 625 | 625 | 30 60 218.031.220

Remarks:
* height adjustable /A=1

Adapter for smaller lathe chisal:

| L |
| L
Code H L B
I
218.329.220 4 54 14
218.280.220 4 69 16 | ?
218.286.220 5 84 20 f
218.290.220 7 99 25 T T @ ‘‘‘‘‘ T ®
218.031.220 7 120 25 i




® | Square cross seat toolholder, DIN 69 880 Form B5

right hand, long

DUPLOMATIC
B1
L2 B2
L1 B3
| Lo
I I
|
. -
2l P
: T
\;—
D1 | H10! D.IN_. Code B1 B2 B3 H5 H6 | L1 | L2 Adapter
Designation
20 16 B5-20x16x30 221.102.150 75 50 7 25 30 16 30 218.331.220
20 16 B5-20x16x40 221.100.150 75 50 7 25 30 26 40 218.331.220
20 16 | B5-20x16x30 241.102.150 75 50 7 25 30 18 30 218.331.220
30 20 B5-30x20x40 222.100.150 100 65 10 28 38 22 40 218.281.220
30 20 B5-30x20x60 222.102.150 100 65 10 28 38 42 60 218.281.220
40 25 B5-40x25x44 223.100.150 18 | 755 | 125 | 325 | 48 22 44 218.288.220
50 32 B5-50x32x55 224.100.150 130 80 16 35 60 30 55 218.291.220
60 32 B5-60x32x60 225.100.150 145 | 825 16 | 425 | 625 | 30 60 218.349.220
Remarks:
* height adjustable /A=1
Adapter for smaller lathe chisal:
L
| |
| | ‘
Code. H L B
I
218.331.220 4 73 14 ?
218.281.220 4 99 16 I
I
218.288.220 5 117 20 -
= o — — 4 o
218.291.220 7 129 25 "
218.349.220 7 143 25 i

(): B 23 B a3h{b B BB H R 2y =)
FrrrySFrary SIrrrroof Arrfaarry 25505y F e rryofogy o f FIF

TEL: (+8B86) 51Z2-579 14649 57910267 FAX: (+B6) S1Z2-BZ2092939
Mail: kssumeid@1 63 . .com WYWeb: http:'iwrwyrwww smmzdhbh.com



Squar e cross seat toolholder, DIN 69 880 Form B6

<,

left hand, long
DUPLOMATIC
B1
L2 B2
L1 B3 ‘
|
i Lo
: I
. —1 _ 1] ; _
2| ° e
| I
|
D1 | H1ot DIN- Code Bl | B2 | B3 | H5 | H6 | L105| L2 Adapter
Designation
20 | 16 | B6-20x16x30 | 221.117.150 | 75 | 50 7 25 | 30 | 16 | 30 | 218.331.220
20 | 16 | B6-20x16x40 | 221.115150 | 75 | 50 7 25 | 30 | 26 | 40 | 218.331.220
30 | 20 | B6-30x20x40 | 222115150 | 100 | 65 | 10 | 28 | 38 | 22 | 40 | 218.281.220
30 | 20 | B6-30x20x60 | 222117150 | 100 | 65 | 10 | 28 | 38 | 42 | 60 | 218.281.220
40 | 25 | B6-40x25x44 | 223115150 | 118 | 755 | 125 | 325 | 48 | 22 | 44 | 218.288.220
50 | 32 | B6-50x32x55 | 224115150 | 130 | 80 | 16 | 35 | 60 | 30 | 55 | 218.291.220
60 | 32 | B6-60x32x60 | 225115150 | 145 | 825 | 16 | 425 | 625 | 30 | 60 | 218.349.220

Adapter for smaller lathe chisal:

Code H L B
218.331.220 4 73 14
218.281.220 4 99 16
218.288.220 5 17 20
218.291.220 7 129 25
218.349.220 7 143 25

Kssumeid1 63 .com

FAX: (+86) 512-B2092939

E b Zy3= B ahib BB Ha R =)

FErrySFrary Srrrrroof Arrrorry afyrory Feochrryofoogy o 8 FIEF
TEL: {(+86G6) 512-579146649 579102667

WYieb: hittpoifvywyrwywwosmzdh.com




Squar e cross seat toolholder, DIN 69 880 Form B7

over head right hand, long

DUPLOMATIC
L2 B1
L1 B2
| B
/ .
— : I
=8 Ao 1 e |
[— o . ]
| M~
i I
|
T
B3
D1 | H1O! DlN_. Code B1 B2 B3 H6 H7 | L1%%%| L2 Adapter
Designation
20 16 B7-20x16x30 221.107.150 75 50 7 30 25 16 30 218.331.220
20 16 B7-20x16x40 221.105.150 75 50 7 30 25 26 40 218.331.220
20 16 B7-20x16x30 241.107.150 75 50 7 30 25 18 30 218.331.220
30 20 B7-30x20x40 222.105.150 100 65 10 38 35 22 40 218.281.220
30 20 B7-30x20x60 222.107.150 100 65 10 38 35 42 60 218.281.220
40 25 B7-40x25x44 223.105.150 18 | 755 | 125 | 48 | 425 22 44 218.288.220
50 32 B7-50x32x55 224.105.150 | 130 80 16 60 50 30 55 218.291.220
60 32 B7-60x32x60 225.105.150 | 145 | 825 16 | 625 | 625 | 30 60 218.349.220
Remarks:
* height adjustable /A=1
Adapter for smaller lathe chisal:
L
| |
| | ‘
Code H L B
I
218.331.220 4 73 14 ?
218.281.220 4 99 16 I
I
218.288.220 5 117 20 -
= o — — 4 o
218.291.220 7 129 25 "
218.349.220 7 143 25 i

> B e e o R

TEL: (+B6) 51Z-579 14649 57910267 FAMX: (+86) S1Z2-BZ2092>939
Mail: kssumeid@1 63 .com Wieb: httpz/'iwwwrw _ smzdb.comn



® | Square cross seat toolholder, DIN 69 880 Form B8

over head left hand, long

<,

TEL: (+8BG6) 512-57914649 57910267
Web: hittp:ifwywwyrwyww .o smz«dh.com

Kssumeid@1 63 .com

DUPLOMATIC
L2 B1
L1 B2
\\ ©
f T
—
I[ — | © : 102
—1 a o ‘ —
| N~
| T
|
I
B3
D1 | H1ot DIN- Code Bl | B2 | B3 | H6 | H7 | L1%5| L2 Adapter
Designetion
20 | 16 | B8-20x16x30 | 221.112.150 | 75 | 50 7 30 | 25 16 | 30 | 218.331.220
20 | 16 | B8-20x16x40 | 221.110150 | 75 | 50 7 30 | 25 | 26 | 40 | 218.331.220
30 | 20 | B8-30x20x40 | 222.110.150 | 100 | 65 10 | 38 | 35 | 22 | 40 | 218.281.220
30 | 20 | B8-30x20x60 | 222.112.150 | 100 | 65 10 | 38 | 35 | 42 | 60 | 218.281.220
40 | 25 | B8-40x25x44 | 223110150 | 118 | 755 | 125 | 48 | 425 | 22 | 44 | 218.288.220
50 | 32 | B8-50x32x55 | 224.110.150 | 130 | 80 16 | 60 | 50 | 30 | 55 | 218.291.220
60 | 32 | B8-60x32x60 | 225.110.150 | 145 | 825 | 16 | 625 | 625 | 30 | 60 | 218.349.220
Adapter for smaller lathe chisal:
L
| |
Code H L B
218.331.220 4 73 14
218.281.220 4 99 16 |
1
218.288.220 5 117 20 :
218.291.220 7 129 25 T T @ ‘‘‘‘‘ T
218.349.220 7 143 25 i

E b 752 A shib .17 iR 2 =)

FCErry sFrary S irrrreaf AssForry afiory Fecfhrrofoagy o 8 T
FAMX: (+B86) 512-B2092939




Square axial seat toolholder,

DIN 69 8380 Form C1

right hand
DUPLOMATIC
L1 B1l
L2 B2
o |
S I | A 8 4l | -
of [ & YA
L |
|
B3
D1 | H1o! D.lN_. Code Bl B2 | B3%5| H5 H6 L1 L2 Adapter
Designation
16 12 C1l-16x12 210.120.150 43 24 13 20 22 44 5 -
20 16 C1-20x16 211.122.150 52 27 13 25 30 55 7 218.329.220
20 16 C1-20x16 211.120.150 65 40 26 25 30 50 - 218.330.220
20 16 C1-20x16 231.120.150 65 40 25,5 25 30 50 - 218.328.220
25 16 C1-25x16 217.120.150 58 33 19 25 30 55 7 218.329.220
30 20 C1-30x20 212.120.150 70 35 17 28 38 70 10 218.280.220
40 25 C1-40x25 213.120.150 85 | 425 | 205 | 325 | 48 85 12,5 | 218.286.220
50 32 C1-50x32 214.120.150 100 50 255 | 35 60 100 16 218.290.220
60 32 C1-60x32 215.120.150 125 | 625 | 325 | 425 | 625 | 125 16 218.031.220
Remarks:
* height adjustable /A=1
Adapter for smaller lathe chisal:
L
Code H L B ;
218.330.220 4 438 14 T
218.329.220 4 54 14 ?
218.280.220 4 69 16 I
218.286.220 5 84 20 —_ = = @ ‘‘‘‘‘ 4 m
218.290.220 7 99 25 ;
I
218.031.220 7 120 25

<€> Ee b 2y 32 g ashibe EBlH A BR 2 &)
FCErry sSFraary S irrrreaf A s orry a8iory Fecfhrrofoogy o 8 T

TEL: (+8B6) 5S12-57914649 57910267 FAMX: (+86) 512-B2092939
Mail: Kssumeaid@1 63 .corm Wieb: httpo/Swwwwwwywosmz«dhbh.com



<,

Square axial seat toolholder,

DIN 69 880 Form C2

TEL: {(+8B6) 51Z2-579 14649 57910267
Web: httpz/ivwwwwww _ smmzdhbh.o.com

kssumeid1 63 . com

left hand
DUPLOMATIC
L1 B4
L2 B5
LO J
I
—
| L I | - . B
c z)
’ u
DI | HLo DIN- Code B4  B5 B6%| H5 | H6 | L1 | L2 Adapter
Designation
20 | 16 C2-20x16 221125150 | 65 | 40 | 26 | 25 | 30 | 50 - 218.330.220
25 | 16 C2-25x16 227125150 | 58 | 33 | 19 | 25 @ 30 | 55 7 | 218.329.220
30 | 20 C2-30x20 222125150 | 76 | 41 | 23 | 28 | 38 | 70 | 10 | 218.280.220
0 | 25 C2-40x25 223125150 | 90 | 475 | 255 | 325 | 48 | 85 | 125 | 218.286.220
50 | 32 C2-50x32 224125150 | 105 | 55 | 305 | 35 | 60 | 100 | 16 | 218.290.220
60 | 32 C2-60x32 225125150 | 125 | 625 | 325 | 425 | 625 | 125 | 16 | 218.031.220
Adapter for smaller lathe chisal:
L
Code H L B
218.330.220 4 48 14
218.329.220 4 54 14
218.280.220 4 69 16 |
218.286.220 5 84 20 I @ ‘‘‘‘‘ 4
218.290.220 7 99 25 :
|
218.031.220 7 120 25

B Lh x5 B ahib BT R 2 =)

FCErry SFrary SISy oof Ao sy 2EFory Fecfrryofoegy o 8 T I
FAMX: (+8B6) 512-B2092939




Square axial seat toolholder,
overhead right hand

DIN 69 8380 Form C3

DUPLOMATIC
B1l
3 L1 B2
| \/_\
T
- —
& o [y L ‘ I)
A o A B A
™~ |
I |
|
L2 B3
D1 | H1O0t D.lN_. Code Bl B2 | B3| H6 H7 L1 L2 Adapter
Designation
16 12 C3-16x12 210.125.150 43 24 13 22 20 44 5 -
20 16 C3-20x16 211.127.150 52 27 13 30 25 55 7 218.329.220
20 16 C3-20x16 211.125.150 65 40 26 30 25 50 - 218.330.220
20 16 C3-20x16 231.125.150 65 40 26 30 25 50 - 218.328.220
25 16 C3-25x16 217.125.150 58 28 19 30 25 55 7 218.329.220
30 20 C3-30x20 212.125.150 70 35 17 38 35 70 10 218.280.220
40 25 C3-40x25 213.125.150 85 425 | 20,5 48 425 85 12,5 218.286.220
50 32 C3-50x32 214.125.150 100 50 25,5 60 50 100 16 218.290.220
60 32 C3-60x32 215.125.150 125 | 625 | 325 | 625 | 625 125 16 218.031.220
Remarks:
« height adjustable /A=1
Adapter for smaller lathe chisal:
L
Code H L B ;
218.330.220 4 48 14 T
218.329.220 4 54 14 ?
218.280.220 4 69 16 I
218.286.220 5 84 20 I @ ‘‘‘‘‘ 4 m
218.290.220 7 99 25 ;
|
218.031.220 7 120 25

<€)> E o 2532 B sh{bFElI B A& R 42> =)
FErry S Frary S Lrrrr oof ALrEarry 25505y Feochrrofosgy o L FIF

TEL: (+86) 5S12-57914649% 579510267 FAM: (+8B6) S1Z2Z-B209259359
Mail: kssumelidd@1 63 ..corm WWeb: httpriwwwyw.o.simzdh.c o



Square axial seat toolholder,

over head left hand

DIN 69 8380 Form C4

DUPLOMATIC
B 4
B5
L1 B6
[(e]
I —l
o E
fffff N
N~
I
L2
DI | HLo DIN- Code B4 | B5 B69 | H6 & H7 | L1 | L2 Adapter
Designation
20 | 16 C4-20x16 | 221120150 | 65 | 40 | 26 | 30 | 25 | 50 | - | 218.330.220
25 | 16 C4-25¢16 | 227120150 | 58 | 33 | 19 | 30 | 25 | 55 | 7 | 218329220
30 | 20 C4-30x20 | 222120150 | 76 | 41 | 23 | 38 | 35 | 70 | 10 | 218.280.220
40 | 25 C4-40x25 | 223120150 | 90 | 475 | 255 | 48 | 425 | 8 | 125  218.286.220
50 | 32 C4-50x32 | 224120150 | 105 | 55 | 305 | 60 | 50 | 100 | 16 | 218.290.220
60 | 32 C4-60x32 | 225120150 | 125 | 625 | 325 | 625 | 625 | 125 | 16 | 218031220
Adapter for smaller lathe chisal:
L
Code H L B ;
218.330.220 4 48 14
218.329.220 4 54 14 f
218.280.220 4 69 16 |
218.286.220 5 84 20 4 — @ ‘‘‘‘‘ 1
218.290.220 7 99 25 ,
|
218.031.220 7 120 25

<,

FAX: (+86) S12-B2092939
WYeb: hittp:fvwwwrwyw.smzdhbh.com

Ee. b 232 g a1k EBl B A BR 2 =)
FCErry s Frry S Errrreaf Assforyy 25iory Fechrroelfoogy o, 8 I

TEL: (+86) 5S12-57914649 57910267
kKssumeid1 63 .corm




® | Multiple squar e seats toolholder DIN 69 880 Form D1

DUPLOMATIC
L2
L1 B3 Bl
|
[
¢ ¢ 4
| [ I |
— [
|
IL | <
[ T
|
|
B4|B2
D1 | H10! DlN'. Code Bl | B2'*| B3 | B4*3| H3 H4 H6 | L1 L2 | A
Designation

25 16 D1-25x16 217.135.150 33 19 33 19 22 30 25 34 48 | 30
30 20 D1-30x20 212.135.150 35 17 41 23 28 38 30 42 60 | 25

40 25 D1-40x25 213.135.150 | 425 | 205 | 475 | 255 | 325 | 48 - 50 72 -
50 32 D1-50x32 214.135.150 50 | 255 | 5 | 305 | 35 60 - 60 85 -
60 32 D1-60x32 215135150 | 575 | 325 | 575 | 325 | 425 | 62,5 - 85 110 | -

> B e R

TEL: (+86) S12-57914649 5791067 FAMX: (+-86) 51Z2Z-B2092939
Mail: Kssumeiid@1 63 ..c o Wieb: httpoiiwwww . smzdhbh.corm



® | Multiple square seats toolholder DIN 69 880 Form D2

over head
DUPLOMATIC
L1 B3 Bl _
|
A g : <
H -\VVWWWWW‘ I I
Ir ][ 4 '
_____ |
[ [a) I . |
Lo
% e
|
L2 B4lp2
D1 | H10t DIN- Code Bl | B29%| B3 B49° H4 | H5 | H7 |L1°5| L2 | A
Designation

25 16 D2-25x16 217.140.150 33 19 33 19 30 25 25 34 48 | 30
30 20 D2-30x20 212.140.150 35 17 41 23 38 35 28 42 60 | 25

40 25 D2-40x25 213.140.150 | 425 | 205 | 475 | 255 | 48 | 425 - 50 72 -
50 32 D2-50x32 214.140.150 50 | 255 | 55 | 305 | 60 50 - 60 85 -
60 32 D2-60x32 215.140.150 | 57,5 | 325 | 57,5 | 325 | 625 | 625 - 85 110 | -

@> BLEIE O kRt

TEL: (+86) 5S12-57914649 57910267 FAM: (+B6) S1Z2Z-B20929359
Mail: kssumeid@163 . .com WWeb: http:ivwwwww.smzdh.com



® | Cilindrical seat toolholder with internal DIN 69 8380 Form E1
coolant supply

DUPLOMATIC
L1
L2
L5
L_A‘f D9
ol o EERES! - _
o ST 5
& h m
. Ji3,
L6 [L3
D1 | D2+¢ E.)IN'. Code D3| D6 | H1| H2 L1 | L2 | L3 | L4 | L5 | L6 | Screws* D9
Designation 02
20 | 16 | E1-20x16 | 221.048.220| 36 | 50 | 23 | 23 | 64 | 51 | 18 | 17 | - | 17 | 218.402.220| M10x1x11

20 | 20 | E1-20x20 | 221.050.150| 40 | 50 | 23 | 23 | 67
20 | 25 | E1-20x25 | 221.052.150| 45 | 50 | 23 | 23 | 71
25 | 16 | E1-25x16 | 227.048.150| 36 | 58 | 25 | 25 | 67
25 | 20 | E1-25x20 | 227.050.150| 40 | 58 | 25 | 25 | 67 18 | 15 | 35 | 13 | 218.402.220 | M10x1x11
25 | 25 | E1-25x25 | 227.052.150| 45 | 58 | 25| 25 | 71 18 | 17 | 40 | 17 | 218.314.220 M12x1x12
30 | 16 | E1-30x16 | 222.048.220| 36 | 68 | 28 | 30 | 64 | 51 | 22 | 17 | - | 17 |218.402.220| M10x1x11
30 | 20 | E1-30x20 | 222.050.150| 40 | 68 | 28 | 30 | 67 | 54 | 22 | 15 | 35| 13 | 218.402.220| M10x1x11
30 | 25 | E1-30x25 | 222.052.150| 45 | 68 | 28 | 30 | 71 | 59 | 22 | 17 | 40 | 15 | 218.314.220| M12x1x12
30 | 32 | E1-30x32 | 222.055.150| 52 | 68 | 28 | 30 | 75 | 63 | 22 | 17 | 44 | 16 | 218.314.220| M12x1x12
30 | 40 | E1-30x40 | 222.060.220| 60 | 68 | 28 | 30 | 87 | 73 | 22 | 22 | 50 | 17 | 218.405.220| M16x1x13

18 | 15| 35| 13 | 218.402.220 M10x1x11
18 | 17 | 40 | 17 | 218.314.220 | M12x1x12
18 | 15| 35| 17 | 218.402.220) M10x1x11

8¢ LB K

40 | 16 | E1-40x16 | 223.048.220| 36 @ 83 | 32,5 - 64 | 51| 22| 17| - 17 | 218.402.220| M10x1x11
40 | 20 | E1-40x20 | 223.050.150| 40 | 83 [325 - | 67 | 54 | 22| 15| 35| 13 | 218.402.220| M10x1x11
40 | 25 | E1-40x25 | 223.052.150| 45 | 83 |325 - | 75| 59| 22| 17 | 40 | 15 | 218.314.220 M12x1x12
40 | 32 | E1-40x32 | 223.055.150| 52 | 83 |325| - | 75| 63 | 22 | 17 | 44 | 16 | 218.314.220| M12x1x12
40 | 40 | E1-40x40 | 223.060.150| 60 | 83 325 - | 90| 73 | 22| 22 | 50 | 17 | 218.402.220| M10x1x11
50 | 20 | E1-50x20 | 224.050.150| 40 | 98 | 35 | - | 67 | 54| 30 | 15| 35| 13 | 218.402.220| M10x1x11
50 | 25 | E1-50x25 | 224.052.150| 45| 98 | 35| - 80| 59| 30 | 17| 40 | 15 | 218.314.220| M12x1x12
50 | 32 | E1-50x32 | 224.055.150| 52 | 98 | 35 | - | 80 | 63 | 30 | 17 | 44 | 16 | 218.314.220 M12x1x12
50 | 40 | E1-50x40 | 224.060.150| 60 | 98 | 35| - | 90| 73 | 30 | 22 | 50 | 17 | 218.405.220| M16x1x13
50 | 50 | E1-50x50 | 224.065.150| 70 | 98 | 35 | - | 100| 83 | 30 | 24 | 60 | - |218.405.220 M16x1x13
60 | 20 | E1-60x20 | 225.050.150 | 40 | 123|425 - | 80 | 54 | 30 | 15| 35 | 13 | 218.402.220 | M10x1x11
60 | 25 | E1-60x25 | 225.052.150| 45 | 123|425 - | 80| 59 | 30 | 17 | 40 | 15 | 218.314.220| M12x1x12
60 | 32 | E1-60x32 | 225.055.150 | 52 | 123|425 - | 80| 63 | 30 | 17 | 44 | 16 | 218.314.220| M12x1x12
60 | 40 | E1-60x40 | 225.060.150| 60 | 123|425 - | 90 | 73 | 30 | 22 | 50 | 17 | 218.405.220 | M16x1x13
60 | 50 | E1-60x50 | 225.065.150 70 | 123|425/ - | 100 83| 30 | 24 | 60 | - | 218.405.220| M16x1x13

Remarks:

* Spare Part

> B e e A R .

TEL: {(+8B6) 512-579 14649 57910267 FAX: (+B6) S12-B20929359
Mail: kssumeid@1 63 .corm WYeeb: hittpoiyvwyrwywr smzdhbh.com



L L 5 32 19 0 Ak AT BR 2 =)
@ Fo - -~ F A sk FF, Fr Fr I = FE

TEL: (+B6) 51Z-579 14649 57910267 FAMX: (+86) S1Z2-BZ2092>939
Mail: kssumeid@1 63 .com Wieb: httpz/'iwwwrw _ smzdb.comn



® | Boring bar holder DIN 69 880 Form E2
with external and internal coolant supply

DUPLOMATIC
L6
L7
D9
!
HEUEE ! -
. _‘LL‘I"_'LIJ'_"I‘L‘I'T"——\ \wavvwww
© o) 8 1. __ _i_ L: I G _ 8
g © L
A %
— (d. — 5
|
L3
DIN-
D1 | D2t . . Code D6 D8 H1 H2 L3 L6 L7 Screws* D9
Designation

16 6 E2-16x6 200.015.149 40 32 18 18 13 44 34 10817 M6 x12
16 8 E2-16x8 200.015.150 40 32 18 18 13 44 34 10817 M6 x 12
16 10 E2-16x10 200.015.151 40 32 18 18 13 44 34 10817 M6 x 12
16 12 E2-16x12 200.015.152 40 40 18 18 13 44 34 10823 M8 x 12
16 16 E2-16x16 200.015.153 40 40 18 18 13 44 34 10823 M8 x 12
20 8 E2-20x8 201.010.150 50 40 23 23 18 50 41 10818 M6 x 16
20 10 E2-20x10 201.010.151 50 40 23 23 18 50 41 10824 M8 x 16
20 12 E2-20x12 201.010.152 50 40 23 23 18 50 41 10824 M8 x 16
20 16 E2-20x16 201.010.153 50 40 23 23 18 50 41 10823 M8 x 12

20 | 20 | E2-20x20 201.010.154 50 | 50 | 23 | 23 18 | 50 | 41 10823 M8 x 12
20 | 25 | E2-20x25 201.010.155 5 | 50 | 23 | 23 18 | 60 51 10822 M8 x 10

25 8 E2-25x8 217.015.150 58 | 40 25 | 25 18 | 50 | 41 10820 M6 x 25
25 10 | E2-25x10 217.015.151 58 | 40 25 | 25 18 | 50 | 41 10820 M6 x 25
25 12 | E2-25x12 217.015.152 58 | 40 25 | 25 18 | 50 | 41 10824 M8 x 16
25 16 | E2-25x16 217.015.153 58 | 40 25 | 25 18 | 50 | 41 10824 M8 x 16
25 | 20 | E2-25x20 217.015.154 58 | 58 | 25 | 25 18 | 50 | 41 10824 M8 x 16
25 | 25 | E2-25x25 217.015.155 58 | 58 | 25 | 25 18 | 60 51 10824 M8 x 16
30 8 E2-30x8 212.015.150 68 | 55 | 28 | 30 | 22 60 | 51 10820 M6 x 25
30 10 | E2-30x10 212.015.151 68 | 55 | 28 | 30 | 22 | 60 51 10820 M6 x 25
30 12 | E2-30x12 212.015.152 68 | 55 | 28 | 30 | 22 | 60 51 10825 M8 x 20
30 16 | E2-30x16 212.015.153 68 | 55 | 28 | 30 | 22 | 60 51 10825 M8 x 20
30 | 20 | E2-30x20 212.015.154 68 | 55 | 28 | 30 | 22 | 60 51 10825 M8 x 20
30 | 25 | E2-30x25 212.015.155 68 | 55 | 28 | 30 | 22 | 60 51 10824 M8 x 16
30 | 30 | E2-30x30 212.015.156 68 | 68 | 28 | 30 | 22 | 75 61 10824 M8 x 16
30 | 32 E2-30x32 212.015.157 68 | 68 | 28 | 30 | 22 | 75 61 10824 M8 x 16

@> BLEIE O kRt

TEL: (+86) 5S12-57914649 57910267 FAM: (+B6) S1Z2Z-B20929359
Mail: kssumeid@163 . .com WWeb: http:ivwwwww.smzdh.com




® | Boring bar holder DIN 69 880 Form E2
with external and internal coolant supply
DUPLOMATIC
DIN-
D1 | D27 . Code D6 | D8 H1 | H2 L3 | L6 | L7 Screws* D9
Designation
40 8 E2-40x8 213.015.150 83 55 | 325 - 22 | 75 61 10826 M8x25
40 10 E2-40x10 213.015.151 83 55 | 325 - 22 | 75 61 10826 M8x25
40 12 E2-40x12 213.015.152 83 55 | 325 - 22 | 75 61 10826 M8x25
40 16 E2-40x16 213.015.153 83 55 | 325 - 22 | 75 61 10835 M10x25
40 20 E2-40x20 213.015.154 83 55 | 325 - 22 | 75 61 10834 M10x20
40 25 E2-40x25 213.015.155 83 55 | 325 - 22 | 75 61 10834 M10x20
40 30 E2-40x30 213.015.156 83 83 | 325 - 22 | 75 61 10834 M10x20
40 32 E2-40x32 213.015.157 83 83 | 325 - 22 | 75 61 10834 M10x20
40 40 E2-40x40 213.015.158 83 83 | 325 - 20 | 90 | 76 10774 M10x16
50 12 E2-50x12 214.015.152 98 68 35 - 30 | 90 | 76 10827 M8x30
50 16 E2-50x16 214.015.153 98 68 35 - 30 | 90 | 76 10777 M10x30
50 20 E2-50x20 214.015.154 98 68 35 - 30 | 90 | 76 10783 M12x25
50 25 E2-50x25 214.015.155 98 68 35 - 30 | 90 | 76 10783 M12x25
50 30 E2-50x30 214.015.156 98 68 35 - 30 | 90 | 76 10782 M12x20
50 32 E2-50x32 214.015.157 98 68 35 - 30 | 90 | 76 10782 M12x20
50 40 E2-50x40 214.015.158 98 98 35 - 30 | 90 | 76 10781 M12x16
50 50 E2-50x50 214.015.159 98 98 35 - 30 | 100 | 86 10780 M12x12
60 16 E2-60x16 215.015.153 | 123 | 68 | 425 - 30 | 90 | 76 10777 M10x30
60 20 E2-60x20 215015154 | 123 | 68 | 425 - 30 | 90 | 76 10783 M12x25
60 25 E2-60x25 215.015.155 | 123 | 68 | 425 - 30 | 90 | 76 10783 M12x25
60 30 E2-60x30 215.015.156 | 123 | 68 | 425 - 30 | 90 | 76 10782 M12x20
60 32 E2-60x32 215.015.157 123 | 68 | 425 - 30 | 90 | 76 10782 M12x20
60 40 E2-60x40 215.015.158 | 123 | 98 | 425 - 30 | 90 | 76 10782 M12x20
60 50 E2-60x50 215.015.159 123 | 98 | 42,5 - 30 | 100| 86 10781 M12x16
Remarks:
_ *  Spare Part
Bushing
213.015.158
212.015.157 214.015.159
For tool code 214.015.158
213015157 | SZ 02 ieg | 215.015.159
A 32 40 50
L 60 75 85
L
B He Code Code Code — -
6 218.858.220 -
218862.220 | 218.868.220 - | | |
10 218.863.220 | 218.869.220 | 218.883.220 W |
12 218864.220 | 218.870.220 | 218.884.220 i
16 218865220 | 218.871.220 | 218.885.220 @ -+ - — - — I <
20 218.866.220 | 218.872.220 | 218.886.220 |
25 218.867.220 | 218.873.220 | 218.887.220 2SS 7 |
32 - 218874220 | 218.888.220
40 - - 218.877.220

(): B 23 B a3h{b B BB H R 2y =)
FrrrySFrary SIrrrroof Arrfaarry 25505y F e rryofogy o f FIF

TEL: (+8B86) 51Z2-579 14649 57910267 FAX: (+B6) S1Z2-BZ2092939
Mail: kssumeid@1 63 . .com WYWeb: http:'iwrwyrwww smmzdhbh.com



® | Boring bar holder DIN 69 880
right hand, offset
DUPLOMATIC
L1 B3
L2
bty ol ~
-ty I
N —
N E— _____{,_,_ - _,’_ g
—
0 T
L3
D1 D2+ Code Bl B2 B3 H1 H2 L1 L2 L3
30 20 7.030.084 88 30 53 37 38 71 35 45
30 25 7.030.085 88 30 53 37 38 71 35 45
30 32 7.030.086 88 30 53 37 38 85 35 60
40 32 320170 * 77,5 25 47,5 32 38 60 25 50
Remarks:
* Drawing not correspondant with tool
Bushing
For tool code 7.030.086
A® 32 - L -
L 60
BHé Code W ‘
6 218.858.220 ]‘
m | A ¢
8 218.862.220 |
10 218.863.220 L 4 ]
12 218.864.220
16 218.865.220
20 218.866.220
25 218.867.220

> B e e R

TEL: {(+8B6) 51Z2-579 14649 57910267 FAMX: (+86) S12-BZ2092939
Mail: kssumeid@1 63 . .com Web: http:i'vywwyrwwyw . simzdhocom



® | Collet chuck holder DIN 69 880 Form E3
for DIN 6388 collets

DUPLOMATIC

AUTOMAZIONE

L9

L3

D10

D6

DI | D2 DIN- Code o6 | P00 i w2 s B coles Coolart
Designetion max. max. tubes

20 | 2-16 E3-20x16 221.010.150 50 43 23 23 18 57 NG 16 | 218.468.220
20 | 2-20 E3-20x20 221.020.150 50 50 23 23 18 62 NG 20 | 218.468.220
25 | 2-16 E3-25x16 227.005.150 58 43 25 25 18 57 NG 16 -

30 | 2-16 E3-30x16 222.005.150 68 43 28 30 22 57 NG 16 | 218.460.220
30 | 2-25 E3-30x25 222.010.150 68 60 28 30 22 75 NG 25 | 218.460.220

40 | 2-25 E3-40x25 223.005.150 83 60 32,5 - 22 75 NG 25 218.460.220

40 | 4-32 E3-40x32 223.010.150 83 72 32,5 - 22 90 NG 32 218.460.220

5 | 2-25 E3-50x25 224.005.150 98 60 35 - 30 75 NG 25 218.460.220

5 | 4-32 E3-50x32 224.010.150 98 72 35 - 30 90 NG 32 218.460.220

60 | 4-32 E3-60x32 225.005.150 123 72 42,5 - 30 90 NG 32 218.460.220

60 | 7,540 E3-60x40 225.010.150 123 85 | 425 - 30 100 NG 40 218.460.220
Remarks:

Coolant supply through collet
Collet nuts and sealing washers for drills with internal coolant suppy : See...........

DIN term Collet Collet nut Wrenches
NG 16/415E | 218570. 10084 10005
NG 20/4541 E | 218.710. 10088 10006 a g :
NG 25/462 E | 218530. 10085 10008 1T i
NG 32/467 E | 218540. 10086 10009 .4/ L
NG40/468 E | 218550. 10087 10010
Remarks:

__ ¢ Pleaselist clamping diameter when ordering.
Example of an order : Collet NG 40/ 468 E , clamping diameter 21,0 mm : 218.550.210

(> Ee b 232 g a1k E= Bl H A BR 2 &)
FCErry S Frry SN Errmrroaf Arrforryafiory Fechroelfoogy o, 8 FIF

TEL: (+8B6) S12-57¥914629 57910267 FAX: (+86) 512-B2092939
Mail: Kssumeidd@1 63 ..corm Wweb: httpziSfvwwwyw. . smzdh.com



® | Collet chuck holder DIN 69 880
for DIN 6345 collets

DUPLOMATIC
L9
L3
|
.\VWVVVWVWV‘
8 L.
a8 © o
DI | D2 DIN- Code o6 | PO w1 w2 3 B Collers Coolart
Designation max. max. tubes
20 |18-13 - 221030160 | 50 | 40 | 23 | 23 | 18 | 50 218.460.220
40, W41
30 |18-13 - 222030220 | 68 | 40 | 28 | 30 | 22 | 57 | Yo'l 218460220
40 |18-13 - 223030100 | 83 | 40 | 325 | - | 2 | 77 218.460.220
Remarks:

Coolant supply through collet.

Sta,\rrc:i)érd (Rgrﬁ Collet Collet nut Wrenches ‘
J444 18-45 | 218.620.220 10092 10016 P
J 443 28-7 218.630.220 10092 10016 5' - L ——] - .
J441 45-10 | 218.635.220 10092 10016 ;
J 440 7-13 218.640.220 | 10092 10016 ‘

@> BLEIE O kRt

TEL: (+86) 5S12-57914649 57910267 FAM: (+B6) S1Z2Z-B20929359
Mail: kssumeid@163 . .com WWeb: http:ivwwwww.smzdh.com



Collet chuck holder
for DIN 6499 collets

DIN 69 830 Form E4

DUPLOMATIC
L9
L3
[
o| &
[a)

D1 | D2 D&Sér':'a&ion Code D6 r[r)alg HL | H2 | L3 nI;a?(. Collets Ctﬂg';”t
16 | 0510 | EA16x16 | 220000220 | 40 | 28 | 18 | 18 | 14 | 455 | ER16 i

16 | 1-13 | EA160 | 220000150 | 40 | 34 | 18 | 18 | 14 | 44 | ER20 :

20 | 1-16| EA20x25 | 221.040090 | 50 | 42 | 23 | 23 | 18 | 57 | ER25 | 218468.220
20 | 2-20| EA20x32 | 221035220 | 50 | 50 | 23 | 23 | 18 | 62 | ER32 | 218468.220
25 | 1-16| EA2505 | 227.040090 | 58 | 42 | 25 | 25 | 18 | 57 | ER25 | 218.468.220
25 | 2.20| EA25x32 | 227035220 | 58 | 50 | 25 | 25 | 18 | 62 | ER32 | 218.468.220
30 | 1-16| EA30x25 | 222040090 | 68 | 42 | 28 | 30 | 22 | 57 | ER25 | 218460.220
30 | 2-20| EA30x32 | 222035220 | 68 | 50 | 28 | 30 | 22 | 75 | ER32 | 218460.220
4 | 1-16| EA40Q5 | 223040220 | 83 | 42 | 325| - | 22 | 63 | ER25 | 218460220
4 | 2-20| EA40E2 | 223035220 | 8 | 50 | 325 | - | 22 | 75 | ER32 | 218460220
4 | 3-26| EAAAD | 223045220 | 83 | 63 | 325 | - | 22 | 75 | ER40 | 218460220
50 | 2-20 | EAB0x32 | 224035220 | 94 | 50 | 35 | - | 30 | 75 | ER32 | 218460.220
50 | 3-26| EA5OX40 | 224045220 | 94 | 63 | 35 | - | 30 | 63 | ER40 | 218460220
60 | 3-26 | EA60X40 | 225045220 | 123 | 63 | 425| - | 30 | 75 | ER40 :

Remarks:

Coolant supply through collet

Collet nuts and sealing washers for drills with internal coolant suppy: See

DIN term Collet Collet nut Wrenches
ER20/428 E | 218.615. 10100 *
ER25/430 E | 218.600._ 10095 10011
ER 32 /470 E | 218.690. 10097 10012
ER 40/ 472 E | 218.610. 10096 10013

Remarks:

__: Pleaselist clamping diameter when ordering.

Example of an order : Collet ER 40/ 472 E , clamping diameter 21,0 mm : 218.610.210

* Collet nut has a hexagon for fork wrenches .




® | Morsetaper holder DIN 69 880 Form F1

DURLOMATIE
L1
L2
|
|3 E
a)
D1 ME%K Dgér'\];ion Code D2 D4 H1 H2 L1 L2 Coolant tubes
20 1 F20-MK-DK1 201.125.150 50 - 23 23 23 - 218.825.220
20 2 F20-MK-DK 2 201.130.220 50 - 23 23 87 - 218.468.220
25 1 F25-MK-DK1 | 207.125.220 58 - 25 25 23 - -
25 2 F25-MK-DK2 | 207.130.150 58 - 25 25 27 - -
30 1 F30-MK-DK1 202.125.150 68 - 28 30 27 - 218.825.220
30 2 F30-MK-DK2 202.130.150 68 - 28 30 27 - 218.825.220
30 8 F30-MK-DK3 202.135.220 68 58 28 30 55 40 218.825.220
40 2 FAO-MK-DK 2 203.130.150 83 55 32,5 - 36 22 218.825.220
40 3 F40-MK-DK3 203.135.150 83 58 32,5 - 36 22 218.825.220
40 4 FAO0-MK-DK4 203.140.150 83 68 32,5 - 80 22 218.460.220
50 2 F50-MK-DK2 204.130.150 98 55 35 - 36 30 218.825.220
50 3 F50-MK-DK3 204.135.150 98 58 35 - 36 30 218.825.220
50 4 F50-MK-DK4 204.140.150 98 68 85 - 50 30 218.460.220
60 2 F60-MK-DK2 205.130.220 123 55 42,5 - 36 30 218.825.220
60 3 F60-MK-DK3 205.135.150 123 58 42,5 - 36 30 218.825.220
60 4 F60-MK-DK4 205.140.150 123 68 42,5 - 50 30 218.825.220
60 5 F60-MK-DK5 205.145.150 123 98 42,5 - 63 30 218.460.220
Remarks:

For drills with coolant through the tool to DIN 228 Form BK

<€)> E o 2532 B sh{bFElI B A& R 42> =)
FErry S Frary S Lrrrr oof ALrEarry 25505y Feochrrofosgy o L FIF

TEL: (+86) 5S12-57914649% 579510267 FAM: (+8B6) S1Z2Z-B209259359
Mail: kssumelidd@1 63 ..corm WWeb: httpriwwwyw.o.simzdh.c o



® | Blanking plug DIN 69 880 Form Z2
DUPLOMATIC
L2
|
|
—
| I
- |
i o B |
™
) | N
| I
|
e —
DIN- .
D1 Designation Code D3 H1 H2 L2 Material
16 Z2-16 210.500.150 40 18 - 13 Steel
16 Z2-16 210.500.001 40 18 - 13 Plastic
20 Z2-20 211.500.150 50 23 23 16 Steel
20 Z2-20 211.500.001 50 23 23 16 Plastic
25 Z2-25 217.500.150 58 25 25 16 Sted
25 Z2-25 217.500.001 58 25 25 16 Plastic
30 Z2-30 212.500.150 68 28 30 16 Steel
30 Z2-30 212.500.001 68 28 30 16 Plastic
40 Z2-40 213.500.150 83 | 325 - 20 Steel
40 Z2-40 213.500.001 83 | 325 - 20 Plastic
50 Z2-50 214.500.150 98 35 - 20 Steel
50 Z2-50 214.500.001 98 35 - 20 Plastic
60 Z2-60 215.500.150 123 | 425 - 20 Sted
60 Z2-60 215.500.001 123 | 425 - 20 Plastic

2534

E o 2532 B sh{bFElI B A& R 42> =)
FErry S Frary S Lrrrr oof ALrEarry 25505y Feochrrofosgy o L FIF

TEL: (+86) 5S12-57914649% 579510267 FAM: (+8B6) S1Z2Z-B209259359
WYeb: httpsiivwrwwyw. . smzdbh.come

Kssumeid1 G323 .cormm



Short drilling chuck holder DIN 69 880
DUPLOMATIC
L1 D4
|
—
I
o™ N i
N
T
D1 D2 Code D3 D4 H1 H2 L1
20 0-10 241.020.220 50 50 - - 38
20 1-13 241.021.220 43 50 - - 89
25 05-8 | 247.020.220 36 58 - - 68
30 1-13 242.022.220 43 68 28 31 89
40 1-13 243.022.220 43 83 32,5 = 85
40 |25-16| 243.027.220 56 83 32,5 - 100
50 | 25-16| 244.025.220 56 98 35 - 100
60 | 25-16| 245.020.220 56 123 | 42,5 - 100
Remarks:

Coolant supply through the center of the drilling chuck.

<,

E bz B ahib BB Ha R 2 =)

FErry SFrary S LIy eaf ALsForrr 255ory Fecfrrrofogy o 8 FIEF
TEL: {(+86)» 512-57914649 57910267 FAX: (+8B6) 512-B209259539

Mail: kssumeid@i1 63 .com

Web: httpzi/ivwwwywyw.smmzdh.com



Revolving stock stop DIN 69 880
DUPLOMATIC
L1
L3 ‘ D3 .

N B

- — @ —

- -
D1 D2 Code D3 H1 H2 L1 L3
20 45 201.040.160 50 23 23 | 40-70 8
25 45 207.045.100 58 25 25 |40-70 15
30 58 202.040.090 70 28 30 | 61-97| 11
30 26 202.045.100 68 28 30 [ 62-95| 20
40 58 203.040.220 83 32,5 - 62-95| 12

<<,

TEL: (+8B6) 51257914649 579510267
Kkssumeid1 63 .com

B u Zryr3= B ahib RT3 R 2 =)

FErry SFrary S Irrrrof ArsForry a2rrory Feobrrofogy o L FIEF

FAMX: (+86) 512-B2092X93 9

Wieb: hittp:ifvwyrwwosmzdh.com



Revolvmg center poi nt DIN 69 880
with centerlng INserts
DUPLOMATIC
AUTOMAZIONE
L1
L3
— ©
- al 2
D2
D1 Conicity Code D3 D4 D6 D7 L1 L3 L4
1:10
20 7 241.201.220 18 41 50 12 73 64 20
30 12 242.201.220 22 47 67 18 88 76 24
40 12 243.201.220 32 56 83 18 111 96 24
Centering inserts Schaft & 20 30 40
D 16 20 24
D1 14 18 18
- D2 6 8 8
L —
Typel ) D3 25 35 45
D4 10 15 25
L1 S D5 25 35 45
a 60°]\— — a
v D6 20 30 40
D7 10 15 25
Type2 O 75°]\ — DAL Cel el 7 12 12
v 1:10
i L 20 24 27,5
o
= L1 17 19,5 22,5
Type 3 L2 a
L2 14,5 16,5 19
L3 25 30 30
o 9002\_{ - 9 L4 21 26 27
VN N L3 e L5 18 24 25
0 30 L6 1 16 16
—
Type4 ° -
P o E a0 C Type Code Code Code
o
Type5 = 1 218.916.021 | 218.916.031 | 218.916.041
2 218.916.022 | 218.916.032 | 218.916.042
] L5 3 218.916.023 | 218.916.033 | 218.916.043
o - o 4 218.916.024 | 218916.034 | 218.916.044
ol o L6 S
) ‘*I a\ 5 218.916.025 | 218.916.035 | 218.916.045
- /\ 6 218.916.026 | 218.916.036 | 218.916.046
|| M~ .
Type6  A| 2 DEOX_ f o Ejector 218.916.020 | 218.916.030 | 218.916.040

@> BLEIE LSk

TEL: (+86) S12>-57914649 57910267 FAMX: (+86) 51Z2-B82092>93%9
Mail: kssumeid@163 . .com Wieb: httpz/fwwwwwwosmmzdh.com



® | Floating holder DIN 69 880
with internal coolant supply

DUPLOMATIC
L1
L2 L3 ' D3 .
[9V)
a ~H-4 oflo — H
D1 D27 Code D3 H1 H2 L1 L2 L3

30 25 242.310.220 68 28 30 95 60 23

40 25 243.310.220 83 32,5 - 95 60 23
50 25 244.310.220 98 85 - 95 60 23
60 25 245.310.220 123 | 425 - 95 60 23
Bushing - L1
D1 Code D2 L1 L2 |

3 t

i N

16 218.242.220 25 60 42 * 7[ E— TI — 1 0

20 218.241.220 25 60 40 yok ]

L2

c&}\ Ee b 232 g shibE BB A BR - =)
FCErry s Frry S sy eaf Asrforry 265ory Fechrrofoogy So f 5

TEL: (+8B6) S12-5791464219 57910267 FAM: (+B6) S12-B20929359
Mail: Kkssumeid@163 ..corm WWweb: httpriSvwwywwywosimzdh.c o



® | Floating holder DIN 69 880
with external coolant supply

DUPLOMATIC
L1
L2
L3 D4
,+.
ol o ~
al al al —+--
L4
D1 | D2 Code D3 D4 D5 Bl B2 L1 L2 L3 L4
20 18 241.380.220 30 50 50 - - 60 42,5 16 22
30 25 242.380.220 40 68 62 28 30 75 53 21 32
40 25 243.380.220 40 83 62 32,5 - 75 53 21 32
50 25 244.380.220 40 98 62 35 - 75 55 21 32

Max. Deviation from Centerline +/- 0,5 mm
Max. Correction of Angle +/- 1°

@> BLEIE O kRt

TEL: (+86) 5S12-57914649 57910267 FAM: (+B6) S1Z2Z-B20929359
Mail: kssumeid@163 . .com WWeb: http:ivwwwww.smzdh.com



<,

DUPLOMATIC

AUTOMAZIONE

Bushing for floating holder

DIN 69 880

242.380.220
For tool code 241.380.220 243.380.220
244.380.220
D1 18 25
L1 26 36
D2AE Code Code
2,2 - 218.246.220
25 - 218.471.220
2,8 - 218.247.220
3 - 218.473.220
35 218.848.220 218.248.220
4 218.849.220 118.234.220
4,5 218.850.220 218.249.220
5 218.851.220 118.235.220
5,6 218.852.220 218.474.220
6 - 118.236.220
6,3 218.853.220 218.475.220
7 118.237.220
7,1 218.854.220
8 218.855.220 118.238.220
9 218.856.220 118.239.220
10 218.220.220 118.240.220
1 - 118.241.220
12 - 118.242.220
125 218.227.220 218.476.220
14 218.224.220 118.244.220
16 218.226.220 118.246.220
18 118.248.220
20 118.250.220

L1

A
!

Ee b 2y 3 g ahibeE Bl H A BR 2 &)
FCErrr s Irry S rrrrreaf AssrForryafiory FTecfhrrolfoogy o, 80 I

TEL: (+86) S12-57914649 5795910267
kKssumeid16F.com

FAMX: (+86) 51Z2Z-B2092939
WYieb: hittpofiyfvywwyrwywwosmz«dh.com



® | Cut-off toolholder, adjustable height DIN 69 880

DUPLOMATIC

AUTOMAZIONE

L1 B1l B2

D1
A
——I
”Z?
j\
H2 V_ILHs

L2
D1 Execution Code BL | B2 | HL | H2 | H3 L1 L2 A *
20 Form A 211.650.160 28 25 26 30 25 40 35 15
20 FormC 211.655.220 28 25 26 30 25 40 35 15
25 Form A 217.680.220 28 25 26 30 25 40 35 2 *
25 FormC 217.665.220 28 25 26 30 25 40 35 2 *
30 Form A 212.680.220 35 35 26 38 28 49 44 2 *
30 FormB 212.675.220 35 35 26 38 28 49 44 2 *
30 Form C 212.665.220 35 35 26 38 34 49 44 2 *
30 FormD 212.670.220 35 35 26 38 34 49 44 2 *
40 Form A 213.630.220 42,5 42,5 32 48 32 49 44 2 *
40 FormB 213.635.220 42,5 42,5 32 48 32 49 44 2 *
40 Form C 213.640.220 42,5 42,5 32 48 32 49 44 2 *
40 FormD 213.645.220 42,5 425 32 48 32 49 44 2 *
Remarks:
for Iscar and Coromant cutt-off tool . FormA Form B
——— —

* for coolant supply through the cutt-off tool.

T S
o[\_Jo o/
(} B b 23 A shie BB H5 R 2 =)

FCErrySsFrary SIrrrroof AisEaorry 257ory Fecfrrofoegy o L FIEF
TEL: (+86) 5S12-57914649 57910267 FAM: (+B6) S1Z2Z-B20929359
Mail: kssumeid@163 . .com WWeb: http:ivwwwww.smzdh.com




® | Tap holder with axial compensation DIN 69 880
for DIN 6499 collets

DUPLOMATIC
L1
L2
L3
j
——— I
(e0] (9\] == [ —
= -
— —
DI | D2 Code D3 | D4 | D5 | H1 | L1 | L2 | L3 Collets Tension / Traction
comp.
20 |05-10| 221.390220 | 28 | 45 | 50 | 23 | 65 | 40 | 18 ER 16 6/15
25 1 05-10| 227.390220 28 | 45 | 58 | 25 | 65 | 40 | 18 ER 16 6/15
30 | 1-16 | 222390220 42 | 62 | 68 | 28 | 90 | 54 | 22 ER 25 8/2
40 | 1-16 | 223390220 42 | 62 | 83 | 325| 8 | 49 | 22 ER 25 8/2
50 | 1-16 | 224390220 42 | 62 | 98 | 35 | 8 | 49 | 22 ER 25 8/2
Remarks:

Driversfortap see......ccevu..

DIN term Collet Collet nut Wrenches
ER 16/ 426 E 218.605. 10099 k
ER25/430 E 218.600._ 10095 10011
Remarks:

* Collet nut has a hexagon for fork wrenches.

(;\ E o 2532 B shib Bl EH5 R 2> =)
FErrySFrzrry S Lrrrr F ALrEorrr 25 F5ory Feclfrrrofoegy o L T

TEL: (+86) S12-57914649 57910267 FAM: (+86) 51Z2-B2092>9359
M ail: Kkssumeid1 63 ..corm Web: httpiivwwwwyw.o.simzdhbh.ocom



Bar puller DIN 69 880
DUPLOMATIC
D2
L1 | H1
CTL\mpi ng force H?2
|

ﬁ ustment F__‘

L2

D1 Code Bar | Clampingforce | | L2 L3 B1 D2 HL | H2
1] range
20 | 241200220 | * | 4-68 20-120 | 895 | 16 18 | 106 | 50 50 30
25 | 247200220 | * | 4-68 20 - 120 9 | 165 | 18 | 106 | 58 50 30
30 | 242200220 | * | 4-68 20 - 120 9 | 165 | 18 | 106 | 68 50 30
40 | 243200220 | * | 4-68 20 - 120 98 | 165 | 18 | 106 | 83 50 30
50 | 244200220 | * | 4-68 20 - 120 16 | 425 | 18 | 106 | 98 50 30
Remarks:

* supplied with 1 Jaw set for bar @ 15 - 68

Jaw for bar puller

Code Bar %
0]
218.985.220 4-20 1 - B
218.986..220 15 - 68 % iz

(}\ B b 2= 3 shibF=BEFA R = =)
FCErry s Frry S Errrreaf Assforyy 25iory Fechrroelfoogy o, 8 I

TEL: {(+8B6) 5S12-57914649 57910267 FAMX: (+86) 5S12-B2092939
Mail: kssumeeid@163 . com WWeb: httprfvwwwwyw.smzdh.com



® | Test bar DIN 69 880
DUPLOMATIC
L1
L2 D6
o —
of I 1=
m
D1 D3%® Code D6 L1 L2
16 30 240.204.220 40 120 15
20 40 241.204.220 50 150 15
25 40 247.204.220 58 150 15
30 40 242.204.220 68 200 15
40 40 243.204.220 83 200 15
50 40 244.204.220 98 200 15
60 40 245.204.220 123 200 15

<,

E bz B ahib B A R 2 =)

FCErrySsFrary SIrrrroof AisEaorry 257ory Fecfrrofoegy o L FIEF
TEL: (+86)» 512-57914649 57910267 FAMX: (+B6) 512-B20929359

Kkssumeid1 63 .com

Web: http:ivwwwvwyw.smzdh.com



® | Boring bar holder DIN 69 880
for radial disc
DUPLOMATIC
L2 Q
“\
] | [/
/T N\
k& Eo - =D
S \ J
= g\‘/ )
_ L)
(90
~ om
m
—
m
D1 D2 Code H1 H2 Bl B2 B3 L1 L2 oP Q
25 25 7.025.032 32 32 35 35 57 75 100 8 40
30 25 7.030.236 35 35 35 35 57 85 110 8 48
30 32 7.030.237 35 35 35 35 57 85 110 8 48
30 40 7.030.238 35 35 35 35 57 85 110 8 48
30 25 7.030.239 35 35 35 35 57 100 125 8 48
30 31,75 7.030.287 35 35 35 35 57 100 125 8 48
30 32 7.030.240 35 35 35 35 57 100 125 8 48
30 40 7.030.241 35 35 35 35 57 100 125 8 48
40 25 - 43 43 45 45 65 100 130 10 56
40 32 - 43 43 45 45 65 100 130 10 56
40 40 7.040.471 43 43 45 45 65 100 130 10 56

2534

B 23 B a3h{b B BB H R 2y =)
FrrrySFrary SIrrrroof Arrfaarry 25505y F e rryofogy o f FIF

TEL:=: {(+8B86) 512-579146429 57910267
Mail: kssumeidi163 . com

FAMX: (+BG6) S12-B2092939

WWeb: httpzivwwwww _ smzdb.com



FErry SFrary S Irrrrof ArsForry a2rrory Feobrrofogy o L FIEF
TEL: (+86) S12>-57914649 57910267 FAMX: (+86) 51Z2-B82092>93%9
Mail: kssumeid@163 . .com Wieb: httpz/fwwwwwwosmmzdh.com

B L % 32 19 sh Ak AT BR 2 =)
>



@

EREE

I

DUPLOMATIC
<> B 7 5< H Sh{b Bl B2 G BR 2% =)

FErrySFrary Srrrrroof Arrrorry afyrory Feochrryofoogy o 8 FIEF

TEL: (+86) S12-57914649 5791067 FAMX: (+-86) 51Z2Z-B2092939
Mail: kssumeid@1 63 .com Wieb: httpz/fvwwwwww.simzdh.com



